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OR (3121a1)

Explain the self- bias transistor circuit.

Jeh—arag eiforex uRuer ) ar=r Y |

8. Draw circuit diagram of direct - coupled two stage
amplifier and explain its working principle.

yIHa—gAd I WR & Yases &1 uRuY
IRE i AR g9 dd— Rigid & =
BN |

6

OR (3121an)

If negative feedback is used in an amplifier then
derive the following expression

__A
1+BA
Where symbols have their usual meaning.

IR yafed A fRifeq fesdd &1 gaiw foar
T @ 949 fAfaRaa sifrafed o sta oY |

Af

A
1+BA

gl fasl & 9= 3sref &

Af=
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Time : 3Hrs. Sem - IV / Ec. Engg. Ec. & Comm.
A.E.D.C

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (3121an)

Explain voltage- series feedback circuit.

dleesl IS fhed® uRuer &) @raEr &Y |

Explain the effect of feedback on bandwidth of
amplifier. 4

gyage & Agica AT WR fhed®d & yHE
DT ATET BN |

OR (3121an)

What is oscillator ? Write its applicationas.

qldd |1 & ? 39 JqUAN &l ford |

Briefly explain different parameters of FET.
4

FET & faftr=1 urRrfier &) @ 989 %
B |

N4071

(i)

(iii)

(iif)

(iv)

3 1621403

frrafaRad & @ dI9-—a1 du wdl @

(31) ®¥c A9 B AU & 98 9 dedl
2|

(@) ®3c A9 B AU S 98 9 T
REdl 2 |

(W) ®<c 9 P A9HE S 984 9 €edl
2|

(%) ®3c A9 B 9UAE & " | dgdl
2

Which of the following device is used in
compensation technique

(a) Diode

(b) Transistor

(c) Thermistor

(d) All of the above

frafaRaa 94 9 fea gfea <1 gaiT
HUTAIE dPb-d A fbar oar @
(31) sTaTS

(C) AL ETA

(|) erfifzexr

(?) Sudaa ai

To find Z,, in two- port network,...................
(a) Output is Short- circuit

(b) Output is Open- circuit

(¢) Input is Short- circuit

(d) Input is Open- circuit

P.T.O
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Answer all Five Questions.

(xx) 741 IC op-amp #, 3MMSCYT Dl............

[ forar wirar 2
(31 f7—6
(@) foa—2
(&) -3
(2) -4

GROUPB

gl ufg 9 & SR < |

2.

What is operating point ? Explain its physical

significance.

ITRFET wrse w1 8 ? 39 wHifds dgwd

@ GRAT DN |

5x4=20

N4071

(vi)

(vii)

(vii)

(viii)

5 1621403
50

I, I,

v, =% 'y 34 Acdd @ fAQ h,®1
qH..2 |

(@) 2 Q

@20

@\ 7Q

@70

An amplifier has voltage gain 20dB and
power gain 60 dB. Current gain of amplifier

(a) 20 dB
(b) 40 dB
(c) 80 dB
(d) 10 dB

gyaefd &1 dieesl 19 20 dB iR grav
A9 60 dB 2 | Yyatfd &1 dxe A9 ...
=l

(31) 20 dB

@) 40 dB

(|) 80dB

(@) 10dB

A multistage amplifier consists of two stages.
voltage gains of stages are 1000 and 10000.
Overall voltages gain is........

(a) 100 dB

(b) 140 dB

(c) 40 dB

(d) 10dB PT.O
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(xvi)

(xvii)

(xvii)

(xviii)

10 N4071

frfafReaa 4 9 o <7 § FET
yaefd @1 dvE UdER Hal @

(31) e o=
CIREESSILANSE]

(|) sH—=srsd Ao

() 39 9 BIg 78

Which of the following statement is correct
for UJT.

(a) It is a two terminal device

(b) It has only one p-n junction

(c) It has used for amplification

(d) None of these

ffaRaa § @ s9— 91 $29 UJT

@ fag wel @

@) ug <1 <ffaa gfaa 2

(@) 399 DI UH p-n SIaI BT 2 |

(d) &1 gaiT gyasa @ fog fear
ST |

() 39 9 BIg T8

Input resistance of ideal op-amp is ..........
(a) Zero

(b) Infinite

(c) Finite

(d) None of these

N4071

(x)

(xi)

(xi)

(xii)

7 1621403

frafaRaa & 9 fea frsds afec o,
Jseyc S fhsd®d & &R @
IGI

(31) @¥c 4w fheda wfoc

(@) dreew vic fhedd Afevc

(W) @<c vic fhsdd wfwc

(?) () 8iix (|) <=0

Which of the following is correct relation for
current- series feedback circuit

(a) Gm=1/V,

(b) Av=V/V,

(c)Rm=V/I

(d)Ai=1/1,

frfaRad & @ 9 ave I
fhed® afwe & foau O Gdy @
@) Gm=1/V,

@) Av=V/V,

() Rm=V /L

(®) Ai=1/1,

Wien bridge oscillator requires .............
(a) Only one transistor

(b) Two transistors

(¢) Three transistors

(d) Four transistors

P.T.O
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10.

Explain the operation of oscillator in detail. 6

Tldld @ IRATAT & ARAT fawarR 3 Y |

OR (3121a1)

Explain drain and transfer characteristic of FET.

FET & $9 3MX B AfToN &1 aredm
N |

Explain the operation of op-amp based adder
circuit. 6

op-amp JTETRT VX uRuer & gRATas a1
AT B |
OR(3721d)

Find Z- parameters for the network shown in

figure. .

20 6Q2
4Q

ffra & fe@w 1w Acas b forv z- yrrfiex
Td B |

P.T.O
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10.

Explain the operation of oscillator in detail. 6

Tleld & IRATAT & ARAT faarR a Y |

OR (3121a1)

Explain drain and transfer characteristic of FET.

FET & $9 3 STBY AfToN Bl ATedm
N |

Explain the operation of op-amp based adder
circuit. 6

op-amp JTETRT VX uRur & aRAres a1
AT B |
OR (372rd)

Find Z- parameters for the network shown in

figure. 50

20 6Q2
4Q

ffra & feEw v Acas @ forv z- yrrfier
1T B |
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